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 Exercise 1: (3¾pts) 

In the following table, just one of the proposed answers is correct. Indicate the number of the question and 

its corresponding answer and justify.  

 

Exercise 2: (2¼pts) 

(The unit of length is cm.) 

In the adjacent figure we have: 

 E, K and F  are three collinear points.  

 P  is a point on [𝑬𝑮]  Such that : 
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1) Show that:  𝑬𝑭 =  3 and 𝑬𝑲 = √2.  (1½pts) 

2) Show that (𝑲𝑷) and (𝑭𝑮) are parallel. (¾pt) 
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           Questions 
                                Answers 
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2𝑛 − 2𝑛+1 𝑎 

If the following table is a 

proportionality table , 

then 𝒂 =     (¾pt) 
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𝑎 and 𝑏 are two non-zero numbers such that 

 𝒂 ≠ 𝒃 . If 𝒂𝒃 = −
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Consider the two lines (𝑑): 4𝑦 + 2𝑚𝑥 = 1 and 

(𝑑′): 𝑦 =
(𝑛−1)

2
𝑥 + 3. If  (𝑑) and (𝑑′) are 

parallel, then 𝒏 + 𝒎 =                              (¾pt) 
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If    3;32&1;2  rpBprA are symmetric 

with respect to origin then,                       (¾pt)  
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5 
If  4942 2  sxy is a linear function and s is 
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Exercise 3: (8½pts) 

In the orthonormal system of axes ( 𝒙’𝑶𝒙 , 𝒚’𝑶𝒚) consider the points : 𝑩(−3 ; 0), C(−3 ; −4) , 

𝑯(1; −2). 𝑸(−1; 4a2 − 12) and the straight line (𝒓): 𝒎𝒚 − 𝟐𝒎𝒙 = 𝒙 + 𝒎. 

1) Place the points 𝑩, 𝑪 and 𝑯 then find the slope of (𝒓) in terms of 𝒎. (𝒎 ≠ 𝟎). (1pt) 

2) a) Show that the equation of  (𝑪𝑯) is : 𝒚 =
1

2
𝒙 −

5

2
 . (½pt) 

            b) Find the value of a if Q belongs to (CH) then specify which quadrant the point Q belongs to? (1pt) 

            c) Calculate 𝒎 such that thw two straight lines (r)  and (𝒅) are parallel. (½pt) 

3) The straight line (𝑪𝑯) cuts 𝒙’𝒐 𝒙 at 𝑬.  

a) Calculate the coordinates of 𝑬. (½pt) 

b) Verify that 𝑯 is the midpoint of [𝑪𝑬]. (½pt) 

c) Determine the equation of (𝑪𝑩). (¾pt) 

d) Deduce the center and the diameter of (𝑺) the circumscribed circle about the triangle 𝑪𝑩𝑬. (½pt) 

4) Let  (𝒅) be the perpendicular bisector of [𝑪𝑬]. 

a) Write the equation of  (𝒅). (¾pt) 

b) Let  𝑭 be the intersection point of  (𝒅) and  (𝑩𝑪). Find the coordinates of F. (¾pt) 

5) Let  𝑷 be the symmetric of  𝑪 with respect to 𝑶. 

a) Without calculating the coordinates of P, show that (𝒅) and (𝑬𝑷) are parallel.  (½pt) 

b) Determine the equation of  (𝑬𝑷) then deduce the relative position of  (𝑬𝑷) with respect to(𝑺). (1pt) 

 

Exercise 4: (5½pts) 

In the adjacent figure:  

 (𝑪) is a circle of center  𝑶 and diameter 𝑫𝑪 = 5𝑥 − 3. 

 𝑨 is a point on (𝑪) such that 𝑨𝑫 = 𝒙 + 3.  

 (The unit of length is cm and 𝒙 > 𝟏) 

1) Reproduce the figure. (¼pt) 

2) a) Place the point 𝑩 symmetric of 𝑫 with respect to 𝑺 the midpoint of [𝑨𝑪]. (¼pt) 

     b) What is the nature of the quadrilateral 𝑨𝑩𝑪𝑫 ? Justify. (½pt) 

3)  [𝑫𝑩] cuts (𝑪) at 𝑰. 

 [𝑨𝑰) cuts [𝑩𝑪] and [𝑫𝑪]  at  𝑵 and 𝑹 respectively. 

a) If  𝑵𝑪 = 2𝑐𝑚. Show that  
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b) Verify that  𝒙 = 3 if 
𝑰𝑩

𝑰𝑫
=

𝟐

𝟑
.   (½pt) 

c) Calculate 𝑨𝑫 and 𝑪𝑫.  (½pt) 

4) Deduce that 𝑨𝑫̂𝑪 = 60° then calculate the measure of AC approximated to nearest 10−2   by excess. (1pt) 

5) a) The tangent to (𝑪) at 𝑨 cuts [𝑪𝑫) at 𝑲 and the tangent to (𝑪) at 𝑪 cuts (𝑨𝑲) at 𝑭. (¼pt) 

b) Show that the three points 𝑶; 𝑺 and 𝑭 are collinear. (¾pt) 

c) Show that the points 𝑶; 𝑨; 𝑭 and 𝑪 belong to the circle whose center and diameter to be determine. 

(¾pt) 

Good Work 


